EARAROBREBRT —5 XN—ZXBISH—F 202448358 (&) 1EEH4E

7&‘55@% C2 USH%—#% ‘ %Z] & ‘ (BEEmM — | 9 16000 B
[xE&] 15 :450,000H  23%&:158,000 @  33#&:90,000 M  43#&:45000H  53&:22,000H
BERE FRESS /IR HE B5F (F28) FA4L (5% | BBIEML | E3F |[SIEY | AT | #AE | B FIR) / BF / S£ERS
1 4| UYIRSFrY o4 | BREE 1:(4_3).5 3321 387 — | 1 (4:22) E;U_Jisaﬁ (EH)
RiboPIO—ILR B:RAATSRY N IRV TF—L1L
< N 3 RIEEXE 2 -2-1- - Mﬁiﬁ(ﬁﬁ)
) 3| Favova-—gy 'y 7 o 1(74%:? 2-2-1-1 | 39.0 4 (4_452) s i\
Ribh—tYV3—9y B:Fa9I9FUVER EM “iE—
_ t 7 | BBEZ 1:44.2 4-4-3-3 39.3| - 5 476 | MOBEEAR (¥E41)
3055 |/N\FT * 5%.0 %) a4 |, @& L5570/t5 4
RIN=VISA B:RFT HBI7—L
; f= t 4 | RliE 1:44.6 6-6-6-4 |39.3| - 2 | 403 |BEEZE (%R
4)8|8|IAF/AT= ! 54.0 @ ) | TertT Az Sk
R4 I RO—=LEY B:ISL—YH-IL BRE|M IRF«4T77—L
R 6 | NEHE 1:44.7 5-55-5 |39.6| — 3 43) | MOEEER (S
517|7| 7L RKROR # .0 @E) (g |1EEEA :
Rib—tYI3—9Y BIIIALIRTU— YAV TTF—L
= = 4 6 | BHISE 1:45.1 7-7-7-7 | 39.4| — 6 488 | FRLLZEEE ()
611111 FZRAME— 56.0 ) “2) ToiE
RiN—EVYIv— B:TTFURD4RIN— /=Y Tr—I
- T 8 *’it—ru 1:45.1 8-8-8-8 [38.8| -— 8 479 | JIIBSLE (%)
70 6| DF7UATHFIITX g F9%) “2) Y3557 - 2RIV )
RIN=YITS5A4 B:7—FF0I— F—U— - Iv I\ - T7—LBRR
= # 5 | BERE 1:46.0 1-1-4-6 [ 41.5| - 7 473 | BOREE (F£41)
8 2 75 56.0 (4) (-3) hFaET
Ri7 I\“?/f'\"L\—‘/ B:5rIUyIFAR RS sV INL—
@ 1—F—&BIEL
13—7— 2,3,4,5,7,8,1,6
20—F— 2,3,4,5,7,8,1,6
30—7— 3,4,5,2,7,8,1,6
43—F— (3,4),5,8,7,2,1,6
o ILRE
B B 4 190 AR 3-4 550M4 5= 3-4 1,410 3EE 3-4-5 2,710M
7B B 4 110 4-5 3204 =51 4-3 1,950 3EH 4-3-5 11,420
3 3004 3-5 1,310
5 190M4

ABCDOVTIRHTERERRODDZ, THERAILZETL



